the lron Source

First look at the MANGO
data with '3253Ba and >>Fe



Ba133 delta

sc_integral/sc_nhits {sc_integral/sc_nhits>1 && sc_integral/sc_nhits<30}
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Ba133 energy spectrum simulated _
by Andre on geant4 show similar T ch'E ;o |5| V |

shape with peak at 6.00 keV T T e e
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Fe55 delta

sc_integral/sc_nhits {sc_integral/sc_nhits>0 &&sc_integral/sc_nhits<50}
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Sc Integral MPV

shape slightly different (but 435 V yet to be added to Fe55)
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issues/questions: which pathlength for dE/dx?

sc_integral/(sc_length*0.05126*1250) {sc_width/sc_length>0.8} sc_integral/(sc_nslices*30*0.05126*1250) {sc_width/sc_length>0.8}

3500/— htemp 4500 | htemp

C Entries 18649 = Entries 18649

- Mean 0.7442 4000 1 Mean 0.9279
3000— Std Dev 1.048 - Std Dev 1.416

N C 2

- %2/ ndf 64.02 /36 35000 éré Sdf 1212/ 42
25001~ grOb 40'00?]53 S000F- Constant 262+6.8

- onstant 347.6£7.3 - Mean 3.762 +0.015
20001 Mean 2.619 £ 0.008 - Sigma  0.6802 +0.0127

C Sigma 0.4517 £ 0.0069 2500—
1500 2000 |

- 1500/—
1000 -

- 1000—

500— -
- 500
0 :I 1 I Ll 1l | L1 1 I L1l 1l 1 Ll 1l | Ll L1 1 | | 11 1 1 | 11 1 1 I 1 O :l | | 1 1 J | 1 1 1 1 L | 1 | 1 1 1 ] 1 1 1 |
2 1 0 1 2 3 4 5 6 7 -2 0 2 4 6 8 10
sc_integral/(sc_length*0.05126*1250) sc_integral/(sc_nslices*30*0.05126*1250)
- - *
. with n_sli
with sc_lenght _slices™30

maybe n_slices*2*307?
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Why Fe55 delta is different between LIME and LEMON? which is the correct?
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sc_integral/(sc_length*0.05126*3080)
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NOo source

Feb5

sc_integral/(sc_length*0.05126*3080)

maybe is an effect of the effective pixel dimension?
the smaller the pixels, the more concentrated the light in Fe55 and therefore different

delta?
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